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Paper – II

 1. Which of the following statements is/are 
true ?

 1.  Social workers practice for profit.

 2.  Protection of Women from Domestic 
Violence Act came into force in 
2007.

 3.  21 disabilities are listed in the  
Rights of Persons with Disabilities 
Act, 2016.

 4.  Social responsibility is a trait of 
social welfare.

 Choose the correct option :

 (A) 1, 2 and 3 

 (B) 2, 3 and 4

 (C) 3 and 4

 (D) 4 only

 2. Which of the following statements are 
false ?

 1.  The 19 in COVID-19 refers to the 
year 2019.

 2.  The 19 in COVID-19 refers to the 
19 symptoms it shows.

 3.  There is a difference between 
Pandemic and Epidemic.

 4.  COVID-19 is an example of 
Biological Disaster.

 Choose the answer from the following 
options :

 (A) 1 and 3 (B) 2, 3 and 4

 (C) 2 and 3 (D) 2 only

 3. Which among the following is/are not 
feature(s) of NGO ?

 1.  Registration under any Institutional 
Act.

 2.  Paid or unpaid employees.

 3.  Main financial sources are grant 
from public, government and 
International Agencies.

 4. Constitutional or Legal Authority by 
the Legislature.

 Choose the answer from the following 
options :

 (A) 3 only (B) 4 only

 (C) 3 and 4 (D) 1, 2 and 3  

 4. Which among the following is/are 
incorrect ?

 1.  Close ended questions are those 
that have fixed range of possible 
answers.

 2.  Questionnaire is a data analysis 
technique.

 3. Open ended questions mainly 
provide qualitative data.

 4.  Dichotomous questions always offer 
four possible answers.

 Choose the answer from the following 
options :

 (A) 3 only

 (B) 4 only

 (C) 2 and 4

 (D) 1, 2 and 3
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 5. Which among the following is/are  
correct ?

 1. A Questionnaire is not different from 
a Schedule.

 2. Non-participant observation is a 
type of observation method.

 3. Interview method is a source of 
primary data.

 4. Pure research is basic research 
with an aim to gain theoretical 
knowledge.

 Choose the correct option :

 (A) 2, 3 and 4

 (B) 1 and 2

 (C) 1, 2 and 3

 (D) 2 and 3 only 

 6. Which of the following is/are Sustainable 

Development Goals 2030 ?

 1. Clean water and sanitation

 2. Good health and wealth

 3. Life below water

 4. Decent cost of living for disabled 

persons

  Choose the correct option :

 (A) 1, 2, 3 and 4

 (B) 1 and 3 only

 (C) 1 only

 (D) 1, 3 and 4

 7. Which of the following is/are not 
correct ?

 1. Disapproval of Policy Cut Motion 
states that the amount of the 
demand be reduced by Rs. 100.

 2. Economy Cut Motion states that the 
amount of the demand be reduced 
by a specific amount.

 3. Token Cut Motion states that the 
amount of the demand be reduced 
to Rs. 100.

 4. Token Cut Motion states that the 
amount of the demand be reduced 
to Rupee 1.

  Choose the answer from the following :

 (A) 2 only

 (B) 1, 2 and 4 only

 (C) 2 and 3 only

 (D) 1, 2 and 3 only

 8. What is the correct sequence of the 
different stages in the enactment of the 
Budget ?

 1. General Discussion

 2. Appropriation Bill

 3. Annual Financial Statement

 4. Finance Bill

  Choose the correct option :

 (A) 4, 3, 2, 1

 (B) 1, 2, 3, 4

 (C) 4, 2, 3, 1

 (D) 3, 1, 2, 4
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 9. Which of the following is/are the correct 
statements ?

 1. Public corporation is the 
traditional and oldest form of 
public enterprise.

 2. Departmental undertaking is 
financed by annual appropriation 
from the treasury.

 3. Public corporation is wholly 
owned by the State.

 4. Government company is created 
by a special law passed by 
legislature.

  Choose the correct option :

 (A) 2 and 3 only

 (B) 1 and 4 only

 (C) 1 and 2 only

 (D) 3 and 4 only

 10. Which is incorrect about 74th Amendment 
Act, 1992 ?

 1. Nagar Panchayat is constituted for 
a rural area.

 2. 33% reservation for SC/ST has 
been given in the municipalities.

 3. It added 12th Schedule with 29 items 
to the Constitution of India.

 4. Article 243 ZE is about Committee 
for Metropolitan Planning.

  Choose the answer from the following 
options :

 (A) 3 and 4

 (B) 1, 2 and 4

 (C) 1, 2 and 3

 (D) 2 and 4

 11. Read the following two statements and 
choose the correct answer using the 
codes given below :

  Assertion (A) : The budget is prepared 

under the leadership and direction of the 

Ministry of Finance.

  Reason (R) : The budget in India is 

presented on the last working day of 

February.

 (A) Both (A) and (R) are true and (R) is 

the correct explanation of (A)

 (B) Both (A) and (R) are true, but (R) is 

not the correct explanation of (A)

 (C) (A) is true, but (R) is false

 (D) (A) is false, but (R) is true

 12. Read the following two statements and 
choose the correct answer using the 
codes given below :

  Assertion (A) : Zero-based budgeting 
was developed in U.K.

  Reason (R) : Zero-based budgeting 
involves a total re-examination of all 
schemes afresh.

 (A) Both (A) and (R) are true and (R) is 
the correct explanation of (A)

 (B) Both (A) and (R) are true, but (R) is 
not the correct explanation of (A)

 (C) (A) is true, but (R) is false

 (D) (A) is false, but (R) is true
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 13. Read the following two statements and 
choose the correct answer using the 
codes given below :

  Assertion (A) : Robert Dahl demanded 
for cross-cultural studies in Public 
Administration.

  Reason (R) : He opined that 
traditional literature on Public 
Administration seldom involved  
cross-cultural analysis.

 (A) Both (A) and (R) are true and (R) is 
the correct explanation of (A)

 (B) Both (A) and (R) are true, but (R) is 
not the correct explanation of (A)

 (C) (A) is true, but (R) is false 

 (D) (A) is false, but (R) is true

 14. Read the following two statements and 
choose the correct answer using the 
codes given below :

  Assertion (A) : Riggs stated that the 
prismatic society is characterized by a 
high degree of formalism.

  Reason (R) : There is a gap between the 
theoretically prescribed and effectively 
practiced norms and values in prismatic 
societies.

 (A) Both (A) and (R) are true and (R) 
is the correct explanation of (A)

 (B) Both (A) and (R) are true, but (R) is 
not the correct explanation of (A)

 (C) (A) is true, but (R) is false

 (D) (A) is false, but (R) is true

 15. Read the following two statements and 
choose the correct answer using the 
codes given below :

  Assertion (A) : Under the Constitution 
of India, the Chief Minister holds office 
till the pleasure of the Governor. 

  Reason (R) : The Chief Minister is 
appointed by the Governor.

 (A) Both (A) and (R) are true and (R) is 
the correct explanation of (A)

 (B) Both (A) and (R) are true, but (R) is 
not the correct explanation of (A)

 (C) (A) is true, but (R) is false

 (D) (A) is false, but (R) is true

 16. In which of the following Articles of 

the Constitution, the term ‘Cabinet’ is 

mentioned ?

 (A) Article 152

 (B) Article 352

 (C) Article 252

 (D) Not mentioned in the Constitution

 17. Who among the following is hailed as a 

Father of local self-government ?

 (A) Lord Mayo

 (B) J. L. Nehru

 (C) Ashok Mehta

 (D) Lord Ripon



  Total Number of Pages :  24

33 – A 6 Paper II

 18. Which of the following Ministries/Office 

has administrative control of the National 

Disaster Management Authority ?

 (A) Prime Minister Office

 (B) Ministry of Home Affairs

 (C) Ministry of Environment, Forest and 

Climate Change

 (D) Ministry of Foreign Affairs

 19. In which year, National Commission for 

Women was set-up as a statutory body ?

 (A) 1988

 (B) 1989

 (C) 1992

 (D) 1991

 20. Which Ministry provides Schemes 

and Programmes for differently-abled 

persons ?

 (A) Ministry of Social Justice and 

Empowerment

 (B) Ministry of Health and Family 

Welfare

 (C) Ministry of Women and Child 

Development

 (D) Ministry of Personnel

 21. Correctly match the following :
  Authors  Works/books/ 

    articles

 a. Charles  i. Public Policy

  E. Lindbloom  Making   

  Re-examined

 b. Y. Dror ii. Modern   

  Organisations

 c. Amitai Etzioni iii. Administrative  

  Behaviour

 d. Herbert Simon iv. Science of

    Muddling  

    Through

  Select the correct answer by using the 
codes given below :

  a b c d

 (A) i ii iv iii

 (B) iv i ii iii

 (C) iii ii iv i

 (D) iii iv ii i

 22. Which is not a part of Metapolicy-making 
stage given by Dror ?

 (A) Processing problems

 (B) Surveying, processing and 
developing resources

 (C) Determining policy making 
strategy

 (D) Executing policy
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 23. Read the following two statements 

and choose the correct answer using 

the codes given below :

  Assertion (A) : The Secretaries to the 

Government of India, advise ministers 

to take decisions that arise within 

the framework of the existing laws 

or policy which otherwise cannot be 

dealt with routine procedures.

  Reason (R) : The Secretaries are 

extensively involved in preparing 

explanatory material for ministerial 

use on the operation of existing 

policies.

 (A) Both (A) and (R) are true and (R) is 

the correct explanation of (A)

 (B) Both (A) and (R) are true, but (R) is 

not the correct explanation of (A)

 (C) (A) is true, but (R) is false

 (D) (A) is false, but (R) is true

 24. Stuart S. Nagel has identified four key 

elements to policy analysis research. 

Which one of the following is not an 

element ?

 (A) Goals

 (B) Subjectivity

 (C) Means

 (D) Methods

 25. Which is/are the element(s) and 
requirement(s) of public policy 
implementation ?

 1. Allocating tasks to personnel

 2. Policy implementing networks

 3. Institutional arrangements

 4. Meta-Evaluation

  Select the correct answer from the 
following :

 (A) 1 and 2

 (B) 2 only

 (C) 1, 2 and 3

 (D) 4 only

 26. Match the following :
         list  – 1   list  – 2 
      (originated in)
 a. Municipal  i. 1799

  Corporation

 b. District  ii. 1687

  Collector

 c. Divisional  iii. 1772

  Commissioner
   iv. 1829

  Select the correct answer by using the 
codes given below :

  a b c 

 (A) ii iii iv

 (B) i ii iii

 (C) ii iv iii

 (D) iv iii ii
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 27. Match the following :
  list  – 1  list  – 2 
  (Budgets)  (Introduced by/ 

  under)
 a. Performance  i. President   

Budget  Johnson
 b. PPBS  ii. President Jimmy  

  Carter
 c. Zero Based  iii. President James  

Budgeting  Garfield
   iv. President   

  Truman

  Select the correct answer by using the 
codes given below :

  a b c 
 (A) i ii iii
 (B) ii iii iv
 (C) iv i ii
 (D) iii ii i

 28. Match the following :
  list  – 1  list  – 2
 a. Consolidated  i. Article 110
  Fund of India
 b. Money Bill  ii. Article 267
 c. Annual  iii. Article 112
  Financial
  Statement
 d. Contingency  iv. Article 266
  Fund of India

  Select the correct answer by using the 
codes given below :

  a b c d
 (A) i ii iii iv
 (B) ii i iii iv
 (C) ii iii i iv
 (D) iv i iii ii

 29. Correctly match the following :
  list  – 1  list  – 2
 a. Floods  i. Geophysical  

  Disaster
 b. Earthquakes  ii. Hydrological  

  Disaster
 c. Pandemic  iii. Climatological  

  Disaster
 d. Drought  iv. Biological   

  Disaster

  Select the correct answer by using the 
codes given below :

  a b c d
 (A) i ii iii iv
 (B) ii i iv iii
 (C) i ii iv iii
 (D) iii iv ii i

 30. Match the following and find which is 
not correctly matched :

  list  – 1  list  – 2

 a. SHG  i. Self Help   
  Groups

 b. NGO  ii. Non-   
  Governmental  
  Organisation

 c. OBC  iii. Other Backward  
  Castes

 d. PwD  iv. Persons with  
  Disabilities

  Select the answer by using the codes 
given below :

 (A) Only d (B) c and d

 (C) Only a (D) Only c
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 31. In which report of the World Bank, 

‘Good Governance’ and ‘Participating 

Civil Society for Development’ were 

stressed ?

 (A) 1993

 (B) 1992

 (C) 1999

 (D) 2000

 32. On whose recommendation, 

appointment of the members and 

chairman of the Central Information 

Commission is made ?

 (A) President

 (B) Prime Minister

 (C) Committee under the leadership of 

Prime Minister

 (D) Committee with leader of opposition 

in the Lok Sabha as Chairperson

 33. What is meant by Rule of Law in India ?

 (A) Prime Minister is above law

 (B) Politicians are above law

 (C) All are equal before the law

 (D) There are different laws for men

 34. In which year the Pendleton Act was 

passed in U.S.A. ?

 (A) 1875 (B) 1882

 (C) 1883 (D) 1871

 35. Who coined the term ‘Development 

Administration’ ?

 (A) Riggs

 (B) Weidner

 (C) U. L. Goswami

 (D) Waldo

 36. Under which Act, the government, 

territories and revenues of India were 

transferred from the British East India 
Company to the Crown ?

 (A) Indian Council Act, 1909

 (B) Government of India Act, 1858

 (C) Government of India Act, 1857

 (D) Government of India Act, 1935

 37. In which of the following Articles is 
the procedure for impeachment of the 
President of India prescribed ?

 (A) Article 58

 (B) Article 55

 (C) Article 61

 (D) Article 62
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 38. The Central Vigilance Commission 

(CVC) was established in 1964, as 

an apex body for exercising general 

superintendence and control over 

vigilance administration. Which 

of the following recommended its 

establishment ?

 (A) Administrative Reforms 

Commission-I

 (B) Administrative Reforms 

Commission-II

 (C) Santhanam Committee

 (D) N. N. Vohra Committee

 39. Read the following two statements and 

choose the correct answer using the 

codes given below.

  Assertion (A) : Erstwhile Planning 

Commission of India was neither a 

statutory body nor a constitutional 

body.

  Reason (R) : It was established by 

an executive resolution of the Union 

Cabinet.

 (A) Both (A) and (R) are true and (R) is 

the correct explanation of (A)

 (B) Both (A) and (R) are true, but (R) is 

not the correct explanation of (A)

 (C) (A) is true, but (R) is false

 (D) (A) is false, but (R) is true

 40. Read the following two statements and 
choose the correct answer using the 
codes given below.

  Assertion (A) : Lokpal has a 
constitutional status.

  Reason (R) : The Lokpal and Lokayukta 
Act, 2013 was passed in India.

 (A) Both (A) and (R) are true and (R) is 
the correct explanation of (A)

 (B) Both (A) and (R) are true, but (R) is 
not the correct explanation of (A)

 (C) (A) is true, but (R) is false

 (D) (A) is false, but (R) is true

 41. What kind of statement is Null  

Hypothesis ?

 (A) Where a difference between the 

variables is given

 (B) Where there is no difference 

between the variables

 (C) Which gives alternative difference 

between the two variables

 (D) Which is not brief

 42. Which of the following is a type of 
Qualitative Interview ?

 (A) Structured Interview

 (B) Directive Interview

 (C) In-depth Interview

 (D) Quantitative Interview
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 43. Which of the following is not a type of 
Scale on the basis of mathematical 
comparison in research ?

 (A) Nominal Scale

 (B) Ordinary Scale

 (C) Ratio Scale

 (D) Ordinal Scale

 44. Which of the following is the basic 
territorial unit of administration in  
India ?

 (A) Revenue division/Sub-division

 (B) Tehsil/Mandal

 (C) District/Zila

 (D) Village

 45. Which is the nodal Ministry for 
the AMRUT 2.0 Scheme of Indian 
Government ?

 (A) Ministry of Labour and 
Employment

 (B) Ministry of Housing and Urban 
Affairs

 (C) Ministry of New and Renewable 
Energy

 (D) Ministry of Panchayati Raj

 46. Who said, “If our civilization fails, it will 
be mainly because of the breakdown in 
public administration” ?

 (A) Wallace Brett Donham
 (B) L. D. White
 (C) P. H. Appleby
 (D) Perry Donham

 47. “Politics has to do with the policies or 

expressions of the State will whereas 
administration has to do with the 

  execution of these policies.” What is this 
statement referring to ?

 (A) Principles of administration

 (B) Interaction between politics and 
administration

 (C) Dichotomy between politics and 
administration

 (D) Principles of politics

 48. What is the essence of 
communication ?

 (A) Sharing information

 (B) Sharing understanding

 (C) Imparting knowledge

 (D) Transmitting information

 49. Read the two statements given below 
and answer the following questions 
choosing the correct answer using the 
codes given below.

  Assertion (A) : The literature of New 
Public Administration is anti-positivist.

  Reason (R) : The New Public 
  Administration disproved the definition 

of Public Administration as value-free.

 (A) Both (A) and (R) are true and (R) is 
the correct explanation of (A)

 (B) Both (A) and (R) are true, but (R) is 
not the correct explanation of (A)

 (C) (A) is true, but (R) is false

 (D) (A) is false, but (R) is true
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 50. Read the two statements given below 
and answer the following questions 
choosing the correct answer using the 
codes given below.

  Assertion (A) : Neutrality is political 
impartiality or non-political nature of civil 
service.

  Reason (R) : Neutrality is a tradition 
developed in Britain.

 (A) Both (A) and (R) are true and (R) is 
the correct explanation of (A)

 (B) Both (A) and (R) are true, but (R) is 
not the correct explanation of (A)

 (C) (A) is true, but (R) is false

 (D) (A) is false, but (R) is true

 51. Read the following two statements and 
choose the correct answer using the 
codes given below :

  Assertion (A) : The 73rd Amendment 
Act, 1992 was not applicable to J and K 
when it was passed.

  Reason (R) : The 73rd Amendment Act, 
1992 provided a Constitutional status to 
the Panchayats.

 (A) Both (A) and (R) are true and (R) is 
the correct explanation of (A)

 (B) Both (A) and (R) are true, but (R) is 
not the correct explanation of (A)

 (C) (A) is true, but (R) is false

 (D) (A) is false, but (R) is true

 52. Read the following two statements and 
choose the correct answer using the 
codes given below :

  Assertion (A) : The R.T.I. Act, 2005 
has contributed in ensuring good 
governance in India.

  Reason (R) : Transparency in 
administration is a salient feature  
of good governance.

 (A) Both (A) and (R) are true and (R) is 
the correct explanation of (A)

 (B) Both (A) and (R) are true, but (R) is 
not the correct explanation of (A)

 (C) (A) is true, but (R) is false

 (D) (A) is false, but (R) is true

 53. Read the following two statements and 
choose the correct answer using the 
codes given below :

  Assertion (A) : Many initiatives have 
been undertaken by various State 
Governments and Central Ministries 
to usher in an era of e-Governance.

  Reason (R) : Good governance requires 
fair legal frameworks that are enforced 
impartially.

 (A) Both (A) and (R) are true and (R) is 
the correct explanation of (A)

 (B) Both (A) and (R) are true, but (R) is 
not the correct explanation of (A)

 (C) (A) is true, but (R) is false

 (D) (A) is false, but (R) is true
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 54. Read the following two statements and 
choose the correct answer using the 
codes given below :

  Assertion (A) : Corruption and lack of 
accountability are the two most serious 
issues affecting the voluntary agencies 
in India.

  Reason (R) : The voluntary agencies 
have their own problems related to 
financial and ethical irregularities.

 (A) Both (A) and (R) are true and (R) is 
the correct explanation of (A)

 (B) Both (A) and (R) are true, but (R) is 
not the correct explanation of (A)

 (C) (A) is true, but (R) is false

 (D) (A) is false, but (R) is true

 55. Read the following two statements and 
choose the correct answer using the 
codes given below :

  Assertion (A) : Sudden movement or 

trembling of the earth’s crust is called 

an Earthquake.

  Reason (R) : All earthquakes are 

not powerful enough to cause huge 

damage.

 (A) Both (A) and (R) are true and (R) is 

the correct explanation of (A)

 (B) Both (A) and (R) are true, but (R) is 

not the correct explanation of (A)

 (C) (A) is true, but (R) is false

 (D) (A) is false, but (R) is true

 56. Match the thinkers with their respective 
ideas/theories

  Thinkers    Ideas/Theories

 a. Douglas i. Theory Y
  McGregor

 b. Mary Parker ii. Zone of   
Follett  Indifference

 c. Chester iii. Law of Situation
  Barnard 

 d. Herzberg iv. Job Enrichment

  Select the correct answer by using the 
codes given below :

 (A) a – i, b – ii, c – iii, d – iv

 (B) a – i, b – iv, c – ii, d – iii

 (C) a – i, b – iii, c – ii, d – iv

 (D) a – iv, b – i, c – iii, d – ii

 57. Which of the following are not included 
in the 14 Principles of administration 
given by Henry Fayol ?

 i. Unity of Command

 ii. Equity

 iii. Integration

 iv. Law of Situation

 v. Authority and Responsibility

  Choose the correct answer from the 
following options :

 (A) ii, iii and v

 (B) iii, iv and v

 (C) i, ii and v

 (D) iii and iv
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 58. Which of the following books Dwight 
Waldo wrote or edited ?

 i. “The Study of New Public 
Administration in Minnowbrook 
Perspective”

 ii. “Public Administration in a Time of 
Turbulence”

 iii. “Ideas and Issues in Public 
Administration : A Book of 
Readings”

 iv. “Reinventing Government”

  Choose the correct answer :

 (A) i and ii only

 (B) i, ii and iii only

 (C) i, ii, iii and iv

 (D) ii and iii only

 59. Read the following two statements and 
choose the correct answer using the 
codes given below.

  Assertion (A) : Taylor’s Scientific 

Management ignored the human side 

of the organisation.

  Reason (R) : Taylor’s Scientific 

Management viewed organisation 

mechanistically.

 (A) Both (A) and (R) are true and (R) is 
the correct explanation of (A)

 (B) Both (A) and (R) are true, but (R) is 
not the correct explanation of (A)

 (C) (A) is true, but (R) is false

 (D) (A) is false, but (R) is true

 60. Read the following two statements and 
choose the correct answer using the 
codes given below.

  Assertion (A) : Chris Argyris’ contribution 
to Humanistic Approach is substantial.

  Reason (R) : He gave the concept of 
Job Enrichment.

 (A) Both (A) and (R) are true and (R) is 

the correct explanation of (A)

 (B) Both (A) and (R) are true, but (R) is 

not the correct explanation of (A)

 (C) (A) is true, but (R) is false

 (D) (A) is false, but (R) is true

 61. Match the following and identify which 
is not correctly matched :

  list  – 1  list  – 2

 a. Snowball  i. Probability   
Sampling  Sample

 b. Cluster  ii. Probability   
Sampling  Sample

 c. Convenience  iii. Non-probability  
Sampling  Sample

 d. Quota  iv. Non-probability  
Sampling  Sample

  Select the answer by using the codes 
given below :

 (A) Only c and d

 (B) Only a

 (C) Only b

 (D) Only d
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 62. Match the following and find out which 

one is correctly matched :

  list  – 1     list  – 2

 (Abbreviations/ terms)   (Meaning)

 a. SPSS  i. Software   

  Program for   

  Social Sciences

 b. Bibliography  ii. A note of   

  reference placed  

  at the bottom  

  of a page

 c. Objectivity  iii. Aims of study

  in social

  research

 d. APA  iv. American   

  Psychological  

  Association

  Select the correct answer by using the 

codes given below :

 (A) Only a and d

 (B) Only a and b

 (C) Only d

 (D) Only a, c and d

 63. Match the following and find incorrectly 
matched option(s) :

  list  – 1  list  – 2
 a. ICT  i. Interaction and  

  Communication  
  Technology

 b. WB  ii. World Bank
 c. UNDP  iii. United Nations  

  Development  
  Program

 d. e-Governance  iv. efficient-   
  Governance

  Select the answer by using the codes 
given below :

 (A) a only (B) a and d
 (C) a, c and d (D) b, c and d

 64. Match the following and find the 
incorrectly matched option :

  list – 1  list – 2 

 a. G2C  i. Government to  
  Citizens

 b. G2B  ii. Government to  
  Bureaucracy

 c. G2G  iii. Government to  
  Globalization

 d. G2E  iv. Government to  
  Employees

  Select the answer by using the codes 
given below :

 (A) a and d

 (B) a, b and d

 (C) a, b, c and d

 (D) b and c



  Total Number of Pages :  24

33 – A 16 Paper II

 65. Consider the following statements :

 a. MGNREGA stands for Mahatma 
Gandhi National Rural Employment 
Guarantee Act.

 b. MGNREGA is to be implemented 
mainly by municipal committees.

 c. MGNREGA was passed in 2005 
under the NDA government of 
Prime Minister Dr. Manmohan 
Singh.

 d. It aims to enhance livelihood 
security in rural areas.

  Which of the above statements are 
correct ?

 (A) a and d (B) a, b and c

 (C) b and c (D) a, c and d

 66. Which among the following is/are correct 
about report writing ?

 1.  The last stage of research is report 
writing.

 2.  In report writing the language 
used should be unambiguous and 
precise.

 3.  Grammatical and factual accuracy 
are features of a good research 
report.

 4.  A good research report is subjective 
in approach.

 Choose the correct option : 

 (A) 1, 2 and 3

 (B) 1, 2, 3 and 4

 (C) 1, 2 and 4

 (D) 1 and 4

 67. Which is/are not feature of good 

governance ?

 1. Transparency

 2. Nepotism

 3. Exclusive development

 4. Accountability

 5. Rule of law

   Choose the answer from the following 

options :

 (A) 1, 2 and 5

 (B) 2,4 and 5

 (C) 1, 3, 4 and 5

 (D) 2 and 3

 68. To whom the RTI application is 

addressed ?

 1. Prime Minister of India

 2. President of India

 3. Chief Minister of the respective 

State

 4. Public Information Officer

  Choose the correct option(s) : 

 (A) 1 and 4

 (B) 2 and 4

 (C) 3 and 4

 (D) 4 only
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 69. Which among the following  
is/are correct about New Public 
Management ?

 1. The book entitled ‘Reinventing 
Government’ in 1992 heralded the 
birth of the NPM.

 2. The basis of NPM is 3Es- efficiency, 
efficacy and evaluation.

 3. NPM emphasizes performance 
appraisal.

 4. The book ‘Reinventing Government’ 
was written by David Osborne and 
Ted Gaebler.

  Choose the correct option(s) :

 (A) 1 and 2 (B) 2 and 3

 (C) 1,3 and 4 (D) 1, 2 and 4

 70. Which statement is/are incorrect 
about France’s École nationale 
d’administration (ENA) ?

 1. It is a central recruiting and training 
agency presently for senior officials 
in France.

 2. It was abolished in 2021.

 3. It is replaced by the Institute national 
du service public (INSP).

 4. It was established in 1945. 

  Choose the answer from the following 
options :

 (A) 1 only

 (B) 2 and 3

 (C) 2, 3 and 4

 (D) 1 and 4

 71. Arrange the following stages in the 
recruitment process in any organisation 
in proper order :

 i. Appointment

 ii. Selection

 iii. Placement

 iv. Probation

 v. Orientation

  Choose the answer from the options 
given below :

 (A) i, ii, iii, iv, v

 (B) ii, i, iv, iii, v

 (C) i, ii, iii, v, iv

 (D) ii, iii, i, iv, v

 72. Which of the following are included in 
the six techniques of Supervision given 
by John D. Millet ?

 i. Prior approval of individual 
projects

 ii. Promulgation of service standards

 iii. Budgetary limitations upon the 
operations

 iv. Approval of key subordinate 
personnel

 v. Plural or multiple supervision

  Choose the answer from the options 
given below :

 (A) ii, iii, iv and v

 (B) Only iii

 (C) i, ii, iii and iv

 (D) i, iii and v only
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 73. Who among the following supported 
the Integral View of Public 
Administration ?

 i. Luther Gullick, Henry Fayol and 
John Pfiffner

 ii. Herbert Simon, Henry Fayol

 iii. L. D. White, John Pfiffner and Henry 
Fayol

 iv. Marshall Dimock and John  
J. Corson

  Choose the answer from the options 
given below :

 (A) i only

 (B) ii and iii

 (C) iii only

 (D) iii and iv

 74. Match the two lists given below :

  list – 1  list – 2
 a. Papers on the i. F. M. Marx
  Science of 
  Administration

 b. Principles of ii. Mooney and 
Organisation   Reiley

 c. Elements of iii. Luther Gullick  
Public  and Urwick

  Administration

 d. Principles of iv. Willoughby
  Public 

Administration

  Select the correct answer by using the 
codes given below :

 (A) a – iii, b – ii, c – iv, d – i

 (B) a – iii, b – iv, c – i, d – ii

 (C) a – iii, b – ii, c – i, d – iv

 (D) a – iii, b – i, c – iv, d – ii

 75. Match the two lists given below :
  list – 1  list – 2
 a. Coordination i. Conferring 

discretion
 b. Delegation ii. Span of 

supervision
 c. Unity of iii. One single
  Command   boss
 d. Span of iv. Synchronization 
  Control   of efforts

  Select the correct answer by using the 
codes given below :

 (A) a – iv, b – i, c – iii, d – ii

 (B) a – i, b – ii, c – iii, d – iv

 (C) a – iv, b – i, c – ii, d – iii

 (D) a – ii, b – i, c – iii, d – iv

 76. Read the following two statements and 

choose the correct answer using the 

codes given below :

  Assertion (A) : Exploratory Research 

is flexible in nature.

  Reason (R) : Explanatory Research aims 

to explore a new or under-researched 

phenomenon.

 (A) Both (A) and (R) are true and (R) is 

the correct explanation of (A)

 (B) Both (A) and (R) are true, but (R) is 

not the correct explanation of (A)

 (C) (A) is true, but (R) is false

 (D) (A) is false, but (R) is true
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 77. Read the following two statements and 
choose the correct answer using the 
codes given below :

  Assertion (A) : A good research design 
must always be rigid.

  Reason (R) : Good research design 
maximises reliability of data.

 (A) Both (A) and (R) are true and (R) is 
the correct explanation of (A)

 (B) Both (A) and (R) are true, but (R) is 
not the correct explanation of (A)

 (C) (A) is true, but (R) is false

 (D) (A) is false, but (R) is true

 78. Match the following :
         list  – 1  list  – 2
 a. Northcote i.  Abolition of  

  Trevelyan   Patronage

  Report  System

 b. Fulton  ii. Improvement of

  Committee   Home Civil

  Report  Service

 c. Masterman  iii. Political  

  Committee  Activities of Civil

    Servants

 d. Assheton  iv. Training of Civil

  Committee   Servants

  Report

  Select the correct answer by using the 
codes given below :

  a b c d
 (A) ii iii i iv

 (B) iv iii ii i

 (C) iii iv ii i

 (D) i ii iii iv

 79. Identify the correctly matched in the 
following :

         list  – 1            list  – 2
            (Countries)
 a. Unitary system  i. France
  and Unwritten 
  Constitution
 b. Constitutional  ii. Japan
  Monarch/Emperor
 c. Unitary and Written  iii. U. K.
  Constitution
 d. Federal system iv. U. S. A. 
  and Republic

  Select the correct answer by using the 
codes given below :

 (A) a – i and c – iii
 (B) b – ii, c – iii and d – iv
 (C) b – ii and d – iv
 (D) c – iii and d – iv

 80. Match the following :
         list  – 1  list  – 2
 a. Article 153 i. Executive  
    authority of   

  Governor
 b. Article 154 ii. Tenure of 
    Governor
 c. Article 155 iii. Appointment of 
    Governor
 d. Article 156 iv. Office of 
    Governor
  Select the correct answer by using the 

codes given below :
  a b c d
 (A) i ii iii iv
 (B) iii i iv ii
 (C) iv i iii ii
 (D) iv iii ii i
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 81. Which approach was given by Fred 

Riggs ?

 (A) Institutional Approach

 (B) Humanistic Approach

 (C) Ecological Approach

 (D) Traditional Approach

 82. Who recommended that the financial 

year should be from 1st November to 

31st October ? 

 (A) Appleby Report

 (B) 1 st Administrative Reforms 

Commission

 (C) 2nd Administrative Reforms 

Commission

 (D) Union Finance Commission

 83. What is the full form of FRBMA ?

 (A) Financial Rejuvenation and Budget 

Management Act

 (B) Fiscal Responsibility and Budget 

Management Act

 (C) Financial Rejuvenation and Business 

Management Association

 (D) Finances of Reserve Bank 

Management Act

 84. How can the CAG of India be removed 

from the office ?

 (A) In the similar manner as the 

Chairman of the State Public 

Service Commission

 (B) In the similar manner as the 

Advocate General of state

 (C) In the similar manner as the Speaker 

of Lok Sabha 

 (D) In the similar manner as the 

Supreme Court Judge

 85. Which of the following are not the 

feature(s) of the British Constitution ?

 1. Rule of Law

 2. Sovereignty of the Parliament

 3. Judicial Review

 4. Republicanism

  Choose the answer from the following 

options :

 (A) 2 and 4

 (B) 1 and 2

 (C) 2 and 3

 (D) 3 and 4
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 86. Which of the following is/are correctly 
matched ?

  list – I    list – II
 a. Lokayukta i. Constitutional  

  body
 b. Central ii. Resolution of  

Vigilance  Govt. of India
  Commission
 c. National iii. Statutory
  Development
  Council
 d. Supreme Court iv. Constitutional

  Select the correct answer by using the 
codes given below :

 (A) a – i, b – ii, c – iii and d – iv
 (B) a – i, b – ii and d – iv
 (C) b – ii and d – iv
 (D) b – ii, c – iii, d – iv

 87. Which is not correctly matched in the 
following lists ?

  list – 1  list – 2
 a. Union Public i. Article 315
  Service 
  Commission 
 b. State Public ii. Article 315
  Service
  Commission
 c. Joint State iii. Article 315
  Public Service
  Commission
 d. NITI Aayog iv. Article 314
  Select the answer by using the codes 

given below :
 (A) c – iii and d – iv
 (B) a – i, c – iii and d – iv
 (C) d – iv only
 (D) a – i, b – ii and d – iv

 88. Which of the following constitute the 
middle order management in the 
Secretariat ?

 a. Under Secretary

 b. Joint Secretary

 c. Additional Secretary

 d. Deputy Secretary

  Select the correct answer by using the 
codes given below :

 (A) a and b (B) a, c and d

 (C) a and d (D) a, b and c

 89. Which of the following directives for 
police reforms are included in the 2006 
Supreme Court’s ruling in Prakash 
Singh versus Union of India case ?

 1. Setting up of State Security 
Commissions

 2. Ensuring minimum term of 6 years 
for the Director General of Police

 3. Setting up of Police Establishment 
Boards

 4.  Setting up of Anti-Corruption 
Bureau

  Select the correct answer by using the 
codes given below :

 (A) 1, 2, 3 and 4

 (B) 2 and 3 only

 (C) 1, 3 and 4

 (D) 1 and 3 only
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 90. Which of the following are   
components of training for Indian 
Foreign Service ?

 1.  Foundational course at Lal 
Bahadur Shastri National 
Academy of Administration

 2.  Training at the Foreign Service 
Institute 

 3.  Bharat Darshan Tour

 4.  Attachment to a Military Unit

 Select the correct answer by using the 
codes given below :

 (A) 1 and 2 (B) 1, 2, 3 and 4

 (C) 2 and 3 (D) 1, 2 and 4

 91. Read the following two statements and 
choose the correct answer using the 
codes given below :

  Assertion (A) : The scope of Public 
Policy has grown enormously in all the 
developing countries.

  Reason (R) : There is no pressure on 

governments to accelerate national 

development in the developing 

countries.

 (A) Both (A) and (R) are true and (R) 

is the correct explanation of (A)

 (B) Both (A) and (R) are true, but (R) is 

not the correct explanation of (A)

 (C) (A) is true, but (R) is false

 (D) (A) is false, but (R) is true

 92. Match the following :

     Thinkers  Models
 a. David Easton i. Bounded   

  Rationality
 b. Charles  ii. Normative-
  Lindbloom  Optimum   

  model
 c. Yehezkel Dror iii. Incremental  

  Model
 d. Herbert Simon iv. Black Box

  Select the correct answer by using the 
codes given below :

  a b c d
 (A) i ii iv iii
 (B) iv iii ii i
 (C) iii ii iv i
 (D) iii iv ii i

 93. “Public policy is whatever 
governments choose to do or not  
to do.” Who said this ?

 (A) Harold Lasswell
 (B) Thomas Dye
 (C) Carol Weiss
 (D) Yehezkel Dror

 94. Who among the following are official 
policy makers in India ?

 a. The pressure groups
 b. The political parties
 c. Legislature
 d. Executive
  Select the correct answer by using the 

codes given below :
 (A) a and b (B) a, b and d
 (C) c and d (D) b, c and d
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 95. Which of the following is true ?
 1. There is no distinction between 

a pressure group and a political 
party.

 2. The Supreme Court has the power 
of judicial review for administrative 
bodies.

 3. Bureaucracy has an important role 
in policy implementation.

 4. NITI Aayog is the think-tank for 
public policy making in India.

  Select the correct answer by using the 
codes given below :

 (A) 2, 3 and 4 (B) 1, 2 and 3
 (C) 1, 2, 3 and 4 (D) 3 and 4

 96. Match the following thinkers with the 
books they wrote

  Thinkers  Books
 a. George Elton i. The Human 
  Mayo  Problems 

of Industrial 
Civilisation

 b. L. Urwick ii. Shop 
Management

 c. F. W. Taylor iii. Management of 
Tomorrow

 d. Rensis Likert iv. The Human 
Organisation – Its 
Management and 
Value

  Choose the correct option :
 (A) a – i, b – iv, c – ii, d – iii
 (B) a – iv, b – i, c – ii, d – iii
 (C) a – i, b – iii, c – ii, d – iv
 (D) a – iv, b – iii, c – ii, d – i

 97. Who said, “All administration means 
domination” ?

 (A) W. Taylor

 (B) Max Weber

 (C) M. P. Follett

 (D) Peter Drucker

 98. Who has given the Theory-Z Organisation 
or Organisation-transcending ?

 (A) Chris Argyris

 (B) Ferrel Heady

 (C) Luther Gullick

 (D) Abraham Maslow

 99. Which methodology was the basis of 
Herbert Simon’s proposed new concept 
of administration ?

 (A) Bounded Rationality

 (B) Decision-making

 (C) Logical Positivism

 (D) Satisficing

 100. Which types of Authority were described 
by Max Weber ?

 i. Traditional

 ii. Charismatic

 iii. Dysfunctional

 iv. Legal

  Choose the correct answer :

 (A) i and iii only

 (B) i, ii and iii only

 (C) i, ii, iii and iv

 (D) i, ii and iv only
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